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QUESTION 1

A column mask is defined on TB_A. Which statement runs successfully? 

A. SELECT \\' FROM TB_A UNION ALL SELECT \\' FROM TB_B 

B. SELECT \\' FROM TB_A INTERSECT SELECT * FROM TB_B 

C. SELECT \\' FROM TB_A EXCEPT ALL SELECT \\' FROM TB_B 

D. SELECT\\'FROM TB A INTERSECT ALL SELECT * FROM TB B 

Correct Answer: A 

 

QUESTION 2

The use of the work file database for RID list processing is controlled by the value of which subsystem parameter? 

A. MAXRBLK 

B. WFDBSEP 

C. MAXTEMPS 

D. MAXTEMPS RID 

Correct Answer: A 

 

QUESTION 3

If a DB2 subsystem fails during start up in the log initialization phase, which two steps are needed in your corrective
actions to minimize impact without completing a cold start? 

A. Start DB2 using DEFER ALL. 

B. Use DSNJU003 with the ENDRBA option. 

C. Use DSNJU003 with the STARTRBA option. 

D. Start DB2 using DEFER on catalog and directory. 

E. Recover the subsystem to the last known system checkpoint in BSDS. 

Correct Answer: DE 

 

QUESTION 4

Which statement regarding migration from DB2 10 for z/OS to DB2 11 for z/OS is true? 
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A. All packages must be rebound with application compatibility set to V10R1. 

B. The DB2 catalog and directory must be changed to reside on SMS managed DASD. 

C. All packages last bound prior to DB2 9 for z/OS must be rebound in DB2 10 or DB2 11. 

D. The size of the DB2 bootstrap datasets must be increased to accommodate a larger LRSN and RBA length. 

Correct Answer: A 

 

QUESTION 5

Which z/OS or DB2 component is required for stored procedures that run in a WLM-established address space? 

A. Call attachment facility 

B. TSO attachment facility 

C. Distributed data facility 

D. Resource recovery services 

Correct Answer: A 

C2090-317 VCE Dumps C2090-317 Practice Test C2090-317 Study Guide

Powered by TCPDF (www.tcpdf.org)

C2090-317 VCE Dumps | C2090-317 Practice Test | C2090-317 Study Guide                                3 / 3

https://www.leads4pass.com/c2090-317.html
https://www.leads4pass.com/c2090-317.html
https://www.leads4pass.com/c2090-317.html
http://www.tcpdf.org
https://www.leads4pass.com/c2090-317.html
https://www.leads4pass.com/c2090-317.html
https://www.leads4pass.com/c2090-317.html

